EARAROBEEIERT — 2 N— IBISH —F 20185118250 (H) 5H%=8H

LN~V 508 10007ATF ¥5%R3®E (BE) Rl N7 [l [mmem -~ 2 ) oo a
[A&4] 1 7 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 3% :2,300,000 5 & :1,500,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s t 5 | M. FL-H 1:44.7 2-3-3  |33.8|103.6| 2 466 | EARER ()
1 /xR TEL * 5.0 - o | B FRIA—xA =
RF—TANT N BEUST HET 7 — L
_ Y ZHER : -9 ARENT (ER)
5 ZFAFHF Ry T H o4 S (11.414/.49) 9-9-9 [33.3(101.3| 7 &2 EBE%%‘“/)IJ
L:ZFATd=I K B:TF/T7-0 J—HrTr—LA
t o4 | W Eadvy 1:45.2 4-4-6 | 34.0| 98.1 | 5 508 | BERERR (ER)
3 dA—H 2R g st @ (+4) TELT 1o
L:ZARM)—hE>R B:bh—=72an H—L— - JvIN> - Ty—LEBERR
4 | HLDA(E 1:45.3 11-12-12 [33.4] 96.9 | 6 466 | REE (EH)
4 EXN)T i 54% (3/4) 0 IATh—ER
RN=YTFLA BTG4 J—HT L
NN JI| B 145, -6 . . FHEEX (E#)
5 F—LTIh "4 e ot RN R I el B [ 21
T4 =TA2NNT b BT RTNLELX AVF LTy —L4
3 — 2 4 3 | J. ELTT 1:45.5 6-6-7 | 34.1| 94.7 | 3 504 | MiIZE (RR)
6 JIITT v T b 54.0 (1/2) © () *vOvy hT7—L
R:F1—TANT b BELFRINy Y3 oY Ir—b
. . C. #4—0O 4. qo- _ , KHER (E8)
7 LAY —H LU i 5 S0 (12415/29> 11-12-12 [34.0| 90.3 | 11 <4+724) i
AL aY LYY BiUALAT LAY — El=Les
. oy 4 3 | C. bx—J 1:45.9 11-11-9 | 34.2| 90.3 | 1 478 | REE= (FH)
87|12 I—IVEXT 55.0 (745%) (p) | BABIEX
R:O—-RKHFO7 X YRS Y Hitie
S o4 | KB 1:45.9 1-1-1 35.4| 91.0 | 4 492 | EEF (EH)
98|14 797 —07F%F— 57.0 (7€) (-4) ﬁiﬁgi
RW=F—=29 7 BRIHAXAHI REYS
4t 5 | SEXH 1:46.2 32-2 [35.6|88.0 | 13 | 438 |KEFEIL (i)
1018 (13| ZHLAT A /A=K 53.0 (1 3/4) “12) ) 45909 K95T 5717
RN—Y97514 B:XARXIIART—I EvJLy RIT7—L
N 4 5 | FIBEK 1:46.2 6-9-9 345|872 | 9 442 | REAFIA ()
111517 A¥—hMILE— 54.0 (7E) (-2) K
R:€>r/07n4 BE-912FK [ A=bie]
S . 4t 3 | HLsEL 1:46.4 14-14-14 [34.0| 84.8 | 8 428 | ERER ()
EH 4 OYXA—-Lvy b 53.0 (1 1/4) (-2) ZKHIEER
L:EATATv— B:AoQY1=T7— LA T1ZT7—L4
C = AHEEE :47. -6- . . EEF AN (ER)
13151 8 A—IWKT53 v [B] 4 5 i (13417/20) 6-6-7 35.5| 79.7 | 12 (4_728) oy
L4/ vT Bi7O—ATHH— J—HrTr—LA
- N FEF I —ER 148. -4~ . . EFEE (ER)
a1l 3L 7 I -0 H 6 L 1(488)3 4-4-3  |37.3| 69.5 | 14 (ztf; fﬁ%ﬁ:
LN=VI54 B:2YXTI—L AALTINT 7—L
@ 21 L
£y 46.0-34.2
NaO24 4L [ 12.9-11.1-11.2-11.7-11.8-11.8-11.3-11.2-11.7
® I—F—@EBIERL
13—7-
23—F— | 14,10,13(1,11) (5,7,8) (2,6) (3,9,12)-4
30—F— | 14,13-10(1,11) (2,5,8) (6,7)12(3,9)=4
43—+ — (x14,13)-(10,1)2,11(5,8) (6,7,12) (3,9)-4
[ N5
B R 10 410M | | 71 K 6-10 1,280 | | # & 4-6 1,270 | | 3=4#& | 6-10-11 11,780
% B 10 180 10-11 70| | B E 6-10 4,230 | | 3EE | 10-6-11 59,760M
6 400M 6-11 2,600 B H 10-6 6,690M
1" 250M

ABICOVWTRDTEEERROODE. TR LIV,



